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Linear Functions Review

1. What is the slope of the line with an x-intercept of -3 and a y-intercept of 6?
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2. Write the equation 2x + 7y — 14 = 0 in slope-intercept form.
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3. Write the equationy = gx — 8 in general form.
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4. Write the equation of the line through the given points m slope-point form: (8 —3),(4,-6).
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5. Whatis the slope and y-intercept of the line given by the equatlon y=3 = —-u(x + 8)
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6. What is the equation of the line which passes through the point (0, —1) and is perpendicular to
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7. Iftwo lines wnth slopes of and — = are parallel, what is the value of n?
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8. Ifline A has a slope of 0.4 and line B has a slope of% what do you know about the lines?
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9. Draw the line which passes through the point (1, —2) and has a slope of — %.

10. Determine the slope of the line passing through the points:

a. (0,5)and (-3,2) . b. (-2,-3) and (-6,—11)
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11. What is the equation of the line shown below?
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12. What is the equation of a line parallel to y = —3x + 2 that has the same x-intercept as
y =2x+4? Mm=-3 *9*6?’—0
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%Cj/\ﬂ.//\linear relation which is not a function would produce what type of graph?
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